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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
:
I

AN T A S —

e e AL LRI TS
ATV =

100 |
0 25 50 75 100 125 150 175
d
0 WM\/\- T
27.5 Wa \ ——  Topt
. AN~ '\,\/
25.0 [ S~

M v .
S DOV IVNCL AT
IRERTALUAY A |

12.5

0 25 50 75 100 125 150 175
d
90 i ———
: ———  RHopt
80 | : A
1
1
70 |
) AN —
_— I ——
~A- vV ! \
60
U v :
1
1
1
50 . 1
0 25 50 75 100 125 150 175
d
T T
4000 1 fa) A A f ETcl n
1
: j\/\/ ———  optETcl
1
3000 : —
1
1
/]

1 |

0
0 25 50 75 100 125 150 175
d
3.0 ' N
/ \ T— LWl
2.5

/

) A .
pd

0.5 _/

\

0 25 50 75 100 125 150 175
d
T I i
1.4 : /\\A —— optEtRate
1
1.2 i w[\
| AN [VANWMAN T
: v v A4
M /\/\'\

ol A L\,
T AN

0.4 V “

0.2

0 25 50 75 100 125 150 175



500

400

300

200

100

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

—o—

——
—o—
—o—

setVI_ETcl

setVI|_fgRec
setVIl_VN

sl|SetVI

) Py S il

A Wﬁ»é""’ :

5-.".A—~» 8- g0~ = - o o v i
1b 20 30 40 I 50




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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—— MW —— MW —— MW —— MW
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32.0 32.0 32.0 1
31.5 1 31.5 1 31.5 1
O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
31.0 1 31.0 31.0
30. 5 1 30.5 - 30. 5 1
30. 0 1 30.0 1 30.0 1
T T T T T T T T T T T T
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m=585,m FV0=0 m=615,m FV0=0 m=640,m FV0=0 m=675,m FV0=0
33.0 33.0
—— MW —— MW —— MW —— MW
32.5 1 32.5 1 32.0 1
32.0 32.0
31.8 1
31.5 1 31.5 1
OO~ — === 00—~ 0—C—0—0—0 0O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
30. 5 - 30. 5 1
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T T T T T T T T T T T T
585 590 595 615 620 625 640 645 650 675 680 685
m=705,m FV0=0 m=730,m FV0=0 m=775,m FV0=0 m=810,m FV0=0
—— MW 32.4 11 _o— MW 31 84 —— MW 32.0 17 _o— MW
32.2 1 31.8 1
31.6 1
32.0 31.6 1
31.4 1
31.8 1 " 31.4 1
31.6 1 31 04 31.2 1
31.4 1 30. 8 31.0
705 710 715 730 735 740 775 780 785 810 815 820
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32.5 - 32.5 1 32.5 1
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Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=615, FVO0=0 m=640, FV0=0
0 1.0
8 0. 8 A
6 0.6
44 0.4
2 0.2
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—— MW
33 1
32 |
31 1
T T T T T T
500 600 700 800 900 1000
m=610,m FV0=0
—— MW
33 1
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31 1
T T T
610 615 620
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0.0 T T T T
00 02 04 06 08 I

—— nu
33 1
327 0-0-0-0-0-0-0-0-0-0-0-0-0-0-0
31 1
T T T
470 475 480
m=685,m FV0=0
——
33 1
32 7 0~0—0-0—0—0—0—C—0—0—0—0—0—0—0
31 1
T T T
685 690 695
m=935,m FV0=0
—— M
33 1
32 7 0-0—0-0—0—0—0—C—0—0—0—0—0—0—0
31 1
935 940 945
m=545,m FV0=0
1.0
0.8
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0
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